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NEW QUESTION 1
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 2
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 3
- (Topic 1)
Compared to a global strategy, a multicountry strategy would be characterized by:

A. strategy coordination across countries.

B. preferred suppliers located in host countries.
C. major strategic decisions coordinated centrally.
D. products adapted to local needs.

Answer: D

NEW QUESTION 4
- (Topic 1)
A remanufacturer of equipment is most likely to have what type of supply chain?

A. Modular logistics
B. Reverse logistics
C. Mixed model

D. Lateral

Answer: B

NEW QUESTION 5
- (Topic 1)
The use of a seasonal index as a forecasting technique measures the ratio of the:

A. average seasonal demand to the average demand for all periods.

B. average demand for all periods to the average seasonal demand.

C. average seasonal demand to the standard deviation of the demand for all periods.

D. standard deviation of the seasonal demand to the standard deviation of demand for all periods.

Answer: A

NEW QUESTION 6

- (Topic 1)

A manufacturer of plastic components that are sold either directly or through distributors wants to identify the requirements of the end customers for each market
segment. Which of the following approaches would be most appropriate?

A. Analyzing the buying history for each of the market segments

B. Asking the manufacturer's direct customers

C. Conducting a market research project

D. Sending samples of potential future products to the final customers

Answer: C

NEW QUESTION 7
- (Topic 1)
A manufacturer can simplify the forecasting process by pooling demand forecasts for a product group and then:

A. averaging total demand and spreading it evenly across all items.

B. disaggregating demand to the item level based on marketing input.

C. disaggregating demand to the item level based on historical proportions.
D. allocating demand to each production site.
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Answer: C

NEW QUESTION 8
- (Topic 1)

A firm wants to lose customers that don't value the unique products and services the firm offers and to attract and retain customers that want what the firm offers.

Engaging in this activity should allow the firm to:

A. create a more loyal customer base.
B. improve customer satisfaction rates.
C. increase market share.

D. target higher-profit customers.

Answer: A

NEW QUESTION 9
- (Topic 1)
Using an independent service provider for logistics would be most appropriate in which of the following situations?

A. A shoe company that wants to penetrate a foreign market

B. A business that owns plants and warehouses globally

C. A financial services company that wants to expand its services
D. A cable television company that wants to add services

Answer: A

NEW QUESTION 10
- (Topic 1)

A company manufactures special products for select customers. When demand for these products drops, the manufacturer can switch the production line to a
commodity-type product that can be sold on the open market at reduced terms to generate cash. The company is executing a corporate strategy that is based on:

A. customer focus and alignment.
B. forecast accuracy.

C. multiple downstream channels.
D. multiple upstream supply chains.

Answer: D

NEW QUESTION 10
- (Topic 1)

Supply chains delivering products or services are most able to respond quickly to changing market requirements when:

A. products have been standardized.

B. products have a modular design.

C. production processes have been standardized.
D. production processes have been simplified.

Answer: B

NEW QUESTION 11
- (Topic 1)
A return material authorization (RMA) policy is used in reverse logistics to:

A. physically transport returned items by using an efficient transportation mode.

B. minimize the number of returned items by involving product design and demand forecasting.
C. reduce the cost of returned items by refusing to accept items that should not be returned.

D. reclaim substantial value from returned items by recycling.

Answer: C

NEW QUESTION 16

- (Topic 1)

Which of the following types of information would be an appropriate basis for a qualitative forecast?
A. Leading indicators

B. Market research data
C. Order history

D. Shipment history
Answer: B

NEW QUESTION 21

- (Topic 1)

Compared to a blanket purchase order, a supplier alliance agreement is best differentiated by:

A. efficient material replenishment processes.
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B. clearly identified roles for the buyer and seller.
C. a shared vision of added value.
D. a sole-source agreement.

Answer: C

NEW QUESTION 25
- (Topic 1)

A manufacturer uses standard costing, and a potential supplier uses activity-based costing. This difference most likely will have implications for which of the

following types of future decisions?

A. Price concessions

B. Make-or-buy

C. Distribution warehouse locations
D. Freight terms

Answer: B

NEW QUESTION 28
- (Topic 1)
The factors to consider in the make-or-buy decision include costs, proprietary knowledge, and:

A. design history.

B. available capacity.
C. inventory balance.
D. warehouse location.

Answer: B

NEW QUESTION 30
- (Topic 1)
Which of the following forecasting methods relies on the opinions of a panel of experts?

A. Delphi technique

B. Survey method

C. Causal method

D. Time series analysis

Answer: A

NEW QUESTION 31
- (Topic 1)
Which of the following customer relationship management activities most appropriately is used for revenue generation?

A. Generating customer leads

B. Generating graphic sales models
C. Measuring customer preferences
D. ldentifying customer margins

Answer: A

NEW QUESTION 35
- (Topic 1)
The focus of collaborative supply chain management differs from a transactional approach by its emphasis on the:

A. transportation of goods to the next link in the chain.

B. flow of product information up to the next level of the chain.
C. flow of demand information and cash up the chain.

D. flow of supply into an organization.

Answer: C

NEW QUESTION 38
- (Topic 1)

Compared to mass-media marketing, customer relationship management has the advantage of allowing the organization to:

A. compete for customers based on service.

B. reach a larger number of potential customers.
C. reduce inventory to improve cash flow.

D. focus on attracting new customers.

Answer: A

NEW QUESTION 39
- (Topic 2)
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A company currently produces custom goods for a limited market. To increase market share, the company will implement a strategy to reduce the number of
products it produces and reduce delivery lead time. The company can increase its chances of achieving the strategy by:

A. using benchmark data for products in the same product groups.
B. incorporating results from market surveys.

C. involving customers in the product design process.

D. using electronic communications to receive customer complaints.

Answer: C

NEW QUESTION 40

- (Topic 2)

The transportation manager at a consumer goods manufacturer has decided to begin shipping full truckload rather than less-than-truckload quantities. Which of the
following

outcomes is likely following implementation of this decision?

A. Inventory levels at the manufacturer will decrease.

B. Lead times as seen by the customer will increase.

C. Production efficiencies at the manufacturer will increase.

D. Transportation costs as seen by the customer will increase.

Answer: B

NEW QUESTION 42
- (Topic 2)
What is the primary benefit of using modular rather than integral designs?

A. Lower cost of manufacturing

B. Increased product performance

C. Greater responsiveness in marketing and production
D. Reduced complexity of bills of material

Answer: C

NEW QUESTION 45
- (Topic 2)
The strategy to implement supplier relationship management has been developed. The most appropriate next step is to:

A. develop criteria for prospective partners.
B. develop policies for alliances.

C. select initial partners.

D. conduct a pilot implementation.

Answer: A

NEW QUESTION 47
- (Topic 2)
Allowing for organizational restructuring is an example of which of the following steps in creating successful strategic alliances among suppliers?

A. Managing multifaceted relationships
B. Negotiating a win-win deal

C. Planning for change

D. Conducting pulse checks

Answer: C

NEW QUESTION 49
- (Topic 2)
The mission of the global reporting initiative (GRI) is to provide a:

A. comparison of key metrics for companies in the same industries across the globe.
B. feasible business plan that can be shown to global potential investors.

C. trusted and credible framework for reports regarding sustainability practices.

D. transparent collaboration between non-profit organizations and governments.

Answer: C

NEW QUESTION 50

- (Topic 2)

The most appropriate reason for a business to comply with the United Nations (UN) Global Compact practices typically would be to:
A. enhance the competitive advantage.

B. gain access to proven management tools.

C. reduce the threat of organized labor.

D. reduce the cost of operating in multiple countries.

Answer: A
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NEW QUESTION 52

- (Topic 2)

A company is formally adhering to the principles of the UN Global Compact. After a review of their supply chain, they have found that a key supplier is in violation
of the compact. The

best action for the company to do first is:

A. do nothin

B. The company is not responsible for compliance of suppliers.

C. replace the supplier as soon as possible with a compliant supplier.
D. notify the supplier of non-compliance.

E. require the supplier to become compliant.

Answer: C

NEW QUESTION 56
- (Topic 2)
Which of the following activities typically would be an appropriate application of the ISO 31000 Risk Management Principles and Guidelines?

A. Calculating a risk index for each facility

B. Establishing external risk communications processes

C. Projecting the ability of a facility to recover from an event
D. Preparing for risk management accreditation

Answer: B

NEW QUESTION 59
- (Topic 2)
A firm has discovered a product quality issue. What should be the first step in responding to this issue?

A. Determine the root cause of the quality issue.

B. Separate the non-conforming products.

C. Trace the location of the faulty product in the supply chain.

D. Replace faulty products when they are returned by the end user.

Answer: C

NEW QUESTION 62
- (Topic 2)
Customizing can be an effective warehousing strategy because it allows a company to:

A. allocate available storage space to optimize handling costs.

B. address trade-offs between space and material handling needs.

C. effectively design its inbound and outbound dock areas.

D. add value to the product through modification, labeling, and packaging.

Answer: D

NEW QUESTION 66
- (Topic 2)
Direct shipment distribution typically offers which of the following advantages?

A. Risk pooling is facilitated.

B. Demand variability is reduced.
C. Service levels are increased.
D. Lead times are reduced.

Answer: D

NEW QUESTION 70
- (Topic 2)
In an advanced planning system, which of the following modules feeds the master planning module?

A. Purchasing planning
B. Demand planning
C. Distribution planning
D. Fulfillment planning

Answer: B

NEW QUESTION 75

- (Topic 2)

An increase in the inventory turnover rate for a supply chain typically would indicate that there has been a reduction in:
A. prices to the end user.

B. supply chain cost of sales.
C. the manufacturer's inventory.
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D. the total supply chain inventory.

Answer: D

NEW QUESTION 79
- (Topic 2)
Implementation of supply chain applications based on which of the following technologies is most likely to have the lowest fixed costs?

A. Best of breed packages

B. One integrated package

C. Service-oriented architecture
D. Software-as-a-service

Answer: D

NEW QUESTION 84

- (Topic 2)

Which of the following distribution approaches for a low-volume, high-variety product line typically will result in the highest level of customer service and the lowest
total distribution costs?

A. Direct shipment from plant to customers

B. Shipment from a central distribution warehouse

C. Shipment through a multi-echelon distribution network
D. Outsourcing the distribution function

Answer: A

NEW QUESTION 87
- (Topic 2)
Component commonality in manufacturing primarily allows a company to:

A. optimize production runs for the components.

B. use less-specialized machinery.

C. decrease single-minute exchange of die processes.
D. increase planning and control.

Answer: A

NEW QUESTION 90
- (Topic 2)
Which of the following outcomes occurs when direct shipping is used instead of a distribution network?

A. Outbound transportation cost is reduced.
B. Inventory velocity is reduced.

C. Order-fill rates are reduced.

D. Inventory obsolescence is reduced.

Answer: D

NEW QUESTION 91

- (Topic 2)

A manufacturer offers a trade-in allowance on a new machine when the customer returns the old machine. The manufacturer reconditions the returned machine
locally and then sells it on the used market for a profit. This program is an example of a focus on:

A. environmentally sensitive engineering.
B. gray box design.

C. green manufacturing.

D. sustainability in operations.

Answer: D

NEW QUESTION 92
- (Topic 3)
Electronic data interchange reduces costs primarily through:

A. standardization of trading document formats.
B. adaptability across hardware platforms.

C. simplified software development.

D. replacement of proprietary systems.

Answer: A

NEW QUESTION 96
- (Topic 3)
Which of the following actions is most appropriate when implementing a strategy to create customer-affordable value?
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A. Use a more rapid transportation mode.
B. Increase safety stock.

C. Extend product warranty.

D. Employ lean principles.

Answer: D

NEW QUESTION 99

- (Topic 3)

Customer demand is 120 units per week. The company works on a 9-hour shift per day, 5- day per week basis. Each shift has a ¥2-hour lunch break and two
15-minute coffee breaks. The cycle time is 12 minutes. To meet demand, production must occur at the rate of one unit every:

A. 12 minutes.
B. 20 minutes.
C. 22.5 minutes.
D. 28 minutes.

Answer: B

NEW QUESTION 100
- (Topic 3)
On-time delivery performance in the supply chain can best be improved by aligning required capacity with what type of capacity?

A. Demonstrated
B. Rated

C. Budgeted

D. Theoretical

Answer: A

NEW QUESTION 105
- (Topic 3)
A supply chain visibility application helps an organization by:

A. planning raw material requirements.

B. removing outliers from independent demand forecasts.

C. providing flexibility in customer delivery locations.

D. providing comprehensive information from any point of contact.

Answer: D

NEW QUESTION 109
- (Topic 3)
The most appropriate frequency for the sales and operations planning process typically is:

A. weekly.
B. monthly.
C. quarterly.
D. annually.

Answer: B

NEW QUESTION 110
- (Topic 3)
A new sales and marketing director who wants to transform a company into a customer driven organization most likely would consider:

A. allowing customers to use their preferred channels to interact with the company.
B. implementing an independent system to capture customer data.

C. minimizing the number of customer contacts.

D. focusing product design on manufacturing strengths.

Answer: A

NEW QUESTION 115

- (Topic 3)

When trying to decide whether to outsource its customer relationship management function, a company primarily should consider which of the following factors?
A. Location of the service provider

B. Internal controls of the company

C. Compatibility of computer hardware

D. Transaction costs

Answer: B

Explanation:
A grocery store found that ground beef sales increased when buns were a featured sales item. This customer relationship management technique is called:

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version CSCP Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/CSCP-dumps.html (399 Q&AS)

A. data mining.

B. data tracking.

C. contact management.

A. D. order entry. Answer: A

NEW QUESTION 116
- (Topic 3)
Which of the following factors should be considered when establishing an inventory policy?

A. Customer demand

B. Selling price history

C. Historical service levels
D. Number of customers

Answer: A

NEW QUESTION 119
- (Topic 3)
Market segmentation is important within the logistics function because it:

A. leads to profitable exchanges with the customer and creates intrinsic customer value

B. supports transactional marketing priorities for successful commodity exchanges to customers globally

C. enables companies to position their products throughout the distributor network based on customer need
D. creates perception in the mind of the customer as available products and services are exchanged

Answer: C

NEW QUESTION 123
- (Topic 3)
A firm may use which of the following technologies to track the flow of inventory across its entire supply chain?

A. Distribution requirements planning
B. Radio frequency identification

C. Transportation management system
D. Warehouse management system

Answer: B

NEW QUESTION 127
- (Topic 3)
A firm decides to reduce the number of distribution centers it uses. Which of the following outcomes is the most likely result of this change?

A. Order-fill rate will increase.

B. Total safety stock will increase.

C. Delivery lead time will decrease.

D. Outbound transportation cost will decrease.

Answer: A

NEW QUESTION 132
- (Topic 3)
A distribution requirements planning system is implemented primarily to monitor or manage:

A. supplier capacity.

B. customer demand.

C. inventory replenishment.
D. demand variation.

Answer: C

NEW QUESTION 134
- (Topic 3)

Which of the following types of lead times is related most closely to a supplier performance measure?
A. Fulfillment

B. Replenishment

C. Overall

D. Process

Answer: B

NEW QUESTION 135
- (Topic 3)

A company used Global Reporting Initiative guidelines to complete a self-assessment. Which of the following actions would be the most appropriate next step?

A. Share information with all stakeholders

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version CSCP Questions & Answers shared by Certleader
e — https://www.certleader.com/CSCP-dumps.html (399 Q&AS)

Leader of IT Certifications

B. Obtain top management support
C. Identify action items
D. Conduct gap analysis

Answer: D

NEW QUESTION 139

- (Topic 3)

A large retailer has negotiated buyback contracts with several suppliers. The suppliers typically will need which of the following systems to effectively implement
the contracts?

A. Point-of-sale tracking

B. Well-developed reverse logistics

C. Monitoring the retailer's revenue

D. Sales incentives to reward the retailer

Answer: B

NEW QUESTION 140

- (Topic 3)

A company recently implemented a new supplier rating system. Data was collected from the enterprise resources planning system about each vendor's rating for
cost, quality, and delivery over 12 months. A cutoff point was established for poor performers. The responsible purchasing agent then scheduled meetings with
each supplier. Which of the following actions is most appropriate to take with suppliers whose ratings were below the cutoff point?

A. Discuss ways to raise the ratings for the next review period.

B. Tell the suppliers they are on probation for 3 months.

C. Immediately cancel outstanding contracts with those suppliers.
D. Ask the suppliers to explain the poor performance.

Answer: A

NEW QUESTION 145

- (Topic 3)

A company has revenues of $100,000, which includes 10% supply chain expense and 80% other expenses. Which of the following actions will result in the largest
increase in gross profit?

A. Increase sales by 25%.

B. Increase sales by 10% and reduce supply chain expense to 8%.
C. Increase sales by 15% and reduce supply chain expense to 9%.
D. Reduce supply chain expense to 5%.

Answer: :D

NEW QUESTION 148
- (Topic 3)
A company may reduce its amount of safety stock by:

A. substituting information for inventory.
B. increasing the number of retailers.
C. increasing the number of producers.
D. changing to a push system.

Answer: A

NEW QUESTION 151
- (Topic 3)
Which of the following tools is most appropriate to use to determine projects that will achieve the greatest net benefits?

A. Pareto diagram

B. Fishbone diagram

C. Process flow diagram
D. Operation process chart

Answer: A

NEW QUESTION 156

- (Topic 3)

The purpose of capacity requirements planning is to determine:
A. the number of overtime hours required to complete a job.

B. when equipment and labor are needed.

C. what materials are needed.

D. what materials require expediting.

Answer: B
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NEW QUESTION 161
- (Topic 3)
Before discontinuing a product based on activity-based cost calculations, one should primarily consider the effects upon:

A. activity-based cost calculations of other products.

B. value stream mapping of complementary products.

C. research and development (R&D) costs of new products.
D. overhead absorption rates across product lines.

Answer: A

NEW QUESTION 163
- (Topic 3)
A company that desires to implement a strategy for inventory management must define which of the following factors?

A. Reliability and maintainability requirements
B. Variability in the customer demand

C. Overall item effectiveness

D. Inventory carrying costs

Answer: B

NEW QUESTION 166
- (Topic 3)
Which of the following variables is the most appropriate customer-facing goal used to determine the target inventory level?

A. Inventory turns
B. Level of service
C. Total delivery cost
D. Delivery lead time

Answer: B

NEW QUESTION 170
- (Topic 3)
Which of the following actions by trading partners is most likely to reduce the goods that will be processed by the reverse supply chain?

A. Contracting with a third party to process returned goods

B. Designing products that are easy to disassemble

C. Working to delay regulations that require accepting returns
D. Providing support and service that meet customer needs

Answer: D

NEW QUESTION 171
- (Topic 3)
Variation in upstream requirements can be reduced by increasing:

A. demand visibility.

B. production capacity.
C. product features.

D. safety stock.

Answer: A

NEW QUESTION 176
- (Topic 3)
Which of the following actions is most likely to improve the cash-to-cash cycle time?

A. Find suppliers with lower total cost of ownership (TCO)

B. Implement vendor-managed inventory (VMI) with key suppliers

C. Implement vendor-managed inventory (VMI) with key customers

D. Establish targeted promotions for the most profitable market segments

Answer: B

NEW QUESTION 179

- (Topic 3)

Which of the following activities occurs as part of the sales and operations planning process?

A. Time fences are matched to master production schedule horizons.

B. The next quarter's forecasts are presented by sales staff to finance and operations personnel at the final meeting.
C. Strategic plans are adjusted based on changing operating situations.

D. Plans are converted to financial projections and capacity requirements.

Answer: D
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NEW QUESTION 182
- (Topic 3)
Which of the following activities typically is included in a warehouse management system?

A. Invoicing

B. Freight-bill auditing
C. Order processing
D. Vehicle routing

Answer: C

NEW QUESTION 187

- (Topic 3)

The practice of purchasing items in large quantities and requesting that shipments be
delivered directly to customers is referred to as:

A. drop shipping.
B. cross-docking.
C. breaking bulk.
D. freight equalization.

Answer: A

NEW QUESTION 192

- (Topic 3)

An operations manager wants to measure variability in the delivery time of insurance policies to clients. Which of the following quality tools most appropriately
would show the level of variability?

A. Pareto chart
B. Histogram
C. Scatterplot
D. Check sheet

Answer: B

NEW QUESTION 195

- (Topic 3)

A company develops annual forecasts for key products and enters into annual contracts with key suppliers based on the forecasts. Which of the following benefits
would the company most likely receive from this approach?

A. Shorter delivery lead times
B. Lower prices

C. Improved service

D. Higher-quality products

Answer: B

NEW QUESTION 198
- (Topic 3)
If a company successfully implements a sales and operations planning process, which of the following measures would be expected to increase?

A. Percentage of on-time deliveries
B. Cash-to-cash cycle time

C. Forecast variation

D. Cost of goods sold

Answer: A

NEW QUESTION 200
- (Topic 3)
The production scheduler for a bottleneck resource should:

A. schedule additional preventive maintenance for the resource.

B. ensure a constant queue of work waiting to be processed.

C. increase production lot sizes to increase utilization of resources.
D. implement pull signals for production of the bottleneck resource.

Answer: B

NEW QUESTION 202

- (Topic 3)

Which of the following statements indicates an attribute of international commercial terms (Incoterms)?
A. They are required contract terms for international trade.

B. Each term implies the responsibilities of the buyer and seller.
C. Discounts and surcharges are identified by the terms.
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D. The terms are reviewed annually by the International Chamber of Commerce.

Answer: B

NEW QUESTION 207

- (Topic 3)

A company that manufactures complex mechanical assemblies to customer order and ships them directly to the customer is implementing manufacturing cells.
The benefit most likely to result from this effort is a reduction in the:

A. number of component shortages.

B. production planning horizon.

C. time to fill customer orders.

D. response time to a request for quote.

Answer: C

NEW QUESTION 212
- (Topic 3)
A common benefit of including an automatic identification system (AIS) at the point of sale (POS) in retail stores is improved:

A. shipment traceability.

B. unit inventory precision.

C. sales revenue tracking.

D. information integrity of freight bills.

Answer: B

NEW QUESTION 214

- (Topic 3)

A supplier has decided to improve its forecast accuracy by reducing the information lead time from the retailer. Which of the following actions would be most
appropriate to achieve the desired result?

A. Eliminating sales and promotions
B. Decentralizing demand information
C. Reducing its quoted lead time

D. Utilizing electronic data interchange

Answer: D

NEW QUESTION 217
- (Topic 3)
Which of the following factors are fundamental to transportation performance?

A. Full truck loads, maintenance, discounts

B. Quality, Just-in-Time, invoicing

C. Contract performance, order tracking, flexibility
D. Cost, speed, delivery consistency

Answer: D

NEW QUESTION 222
- (Topic 3)
The theory of constraints (TOC) works best in an environment where the:

A. product mix for the operation changes daily.

B. constraint cannot be easily managed.

C. constraint cannot be easily identified.

D. constraint persists long enough to be managed effectively.

Answer: D

NEW QUESTION 224
- (Topic 3)
Which of the following outcomes is the primary benefit to an organization that develops a supplier certification program?

A. Supplier capability is documented.

B. Inspection costs are reduced.

C. Delivery time is improved.

D. Negotiating power is strengthened for the certifying organization.

Answer: B

NEW QUESTION 227
- (Topic 3)
Which of the following statements is true when a contract manufacturing agreement is implemented?
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A. There is no longer a need for material requirements planning.

B. The total cost of acquiring products will decrease.

C. Communications and project management are key factors for success.

D. Assets on the contract manufacturer's balance sheet typically will decrease.

Answer: C

NEW QUESTION 228

- (Topic 3)

A manufacturer with operations in an area prone to natural disasters is reviewing its sustainability strategy. Which of the following production strategies should the
company implement to reduce the risk of supply interruptions?

A. Centralized

B. Decentralized

C. Make-to-order

D. Engineer-to-order

Answer: B

NEW QUESTION 231

- (Topic 3)

One operation in a four-stage process has been producing more than required and is causing elevated levels of work in process. Which of the following
approaches would be most appropriate to address the situation?

A. Kano

B. Kanban
C. Kaizen
D. Keiretsu

Answer: B

NEW QUESTION 233

- (Topic 3)

A project team has received 30 improvement ideas from subject matter experts in the business. Which of the following continuous improvement tools would be
most appropriate to use to sequence implementation timing based on an agreed-upon weighted criteria?

A. Affinity diagram

B. Matrix diagram

C. Prioritization matrix

D. Interrelationship digraph

Answer: C

NEW QUESTION 234
- (Topic 3)
Which of the following characteristics typically is a feature of supplier relationship management?

A. Supplier employees are located at the firm's facilities.

B. Inventory is verified before the supplier ships the goods.

C. Performance of both firms is measured and reported regularly.
D. The supplier is the sole source for the goods.

Answer: C

NEW QUESTION 239
- (Topic 3)
The relative speed at which all transactions within the supply chain process occur is known as:

A. the cycle time.
B. velocity.

C. latency.

D. throughput.

Answer: B

NEW QUESTION 244

- (Topic 3)

A service company has decided to create a customer-focused business and has identified the following steps in the process:
{exhibit 3860}

Which of the following sequences of steps is correct for implementing the company's decision?

A.2,1,4,3,5
B.4,2,1,5,3
C.3,52,4,1
D.4,2,5,1,3
Answer: B
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NEW QUESTION 248
- (Topic 3)
Variability in product design can best be reduced by:

A. initiating 100% product inspection.
B. outsourcing the design process.
C. broadening design specifications.
D. applying Six Sigma principles.

Answer: D

NEW QUESTION 251
- (Topic 3)
Which of the following metrics is the most appropriate measure of supply chain responsiveness?

A. Order fulfillment lead times

B. Percentage of orders delivered on time
C. Retail inventory days of supply

D. Upside production flexibility

Answer: D

NEW QUESTION 252
- (Topic 3)
Use of a private warehouse is most appropriate when a firm needs to:

A. adjust warehouse capacity easily for seasonal products.

B. perform a limited number of specialized activities for customers.

C. control operating policies and hours to respond to changes in market demand.
D. take advantage of economies of scale and scope to increase profitability.

Answer: C

NEW QUESTION 253
- (Topic 3)
In the supplier rationalization step of the supplier relationship management process, the supplier base is treated like:

A. a rival competitor in a tight market.

B. an extension of the enterprise.

C. a subcontractor with the lowest bid.

D. an end customer with 50% of the demand.

Answer: B

NEW QUESTION 255
- (Topic 3)
The ABC classification system answers which two of the following inventory-related questions?

A. How much inventory should be ordered at one time, and when will the order be placed?

B. What is the importance of the inventory item, and how will the inventory items be controlled?

C. How much inventory should be ordered at one time, and what is the importance of the inventory item?
D. When will the order be placed, and how will the inventory items be controlled?

Answer: B

NEW QUESTION 257

- (Topic 3)

A supervisor knows that employees have good ideas for improving department operations but are hesitant to share them. Which of the following tools would be
most appropriate for encouraging the employees to participate in identifying opportunities?

A. Tree diagram
B. Pareto chart

C. Process map
D. Affinity diagram

Answer: D

NEW QUESTION 261
- (Topic 3)
A firm expands distribution of its products into additional countries. Some customers initiate order batching, which could lead to which of the following outcomes?

A. Bullwhip effect

B. Price fluctuations
C. Rationing

D. Better forecasting
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Answer: A

NEW QUESTION 266

- (Topic 3)

Value stream mapping provides the most benefit when:
A. analyzing customer requirements.

B. identifying nonvalue-added activities.

C. planning kaizen events.

D. implementing an information technology strategy.

Answer: B

NEW QUESTION 268
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